VCE & PDF https://www.passapply.com/ns0-162.html
2024 Latest passapply NS0-162 PDF and VCE dumps Download

PassApply.com

NS0-16298AS

NetApp Certified Data Administrator (ONTAP)

Pass NetApp NS0-162 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/ns0-162.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by NetApp
Official Exam Center

@ After Purchase

@ Guarantee

© Free Update SKTISFACTION GUARANTEEp
@ Satisfied Customers

Latest NS0-162 Dumps | NS0-162 Study Guide | NS0-162 Braindumps 1/4


https://www.passapply.com/ns0-162.html
https://www.passapply.com/ns0-162.html
https://www.passapply.com/ns0-162.html

VCE & PDF https://www.passapply.com/ns0-162.html
2024 Latest passapply NS0-162 PDF and VCE dumps Download

DacocAnmnilvyv ~coam
':-)f,-|_ :_‘.-;.;--,”..i NVY.COI

QUESTION 1

Your company wants their newly Installed ONTAP system to automatically send telemetry data to NetApp to provide
early naotification of any security risks, bug fixes, and ONTAP updates. Furthermore, In case of hardware failures, a
support case should be opened automatically at NetApp.

Which two NetApp components satisfy the requirements? (Choose two.)

A. Cloud Insights

B. Active 1Q

C. ONTAP AutoSupport

D. Active IQ Unified Manager

Correct Answer: BC

Explanation: Cases can be initiated automatically by our systems installed at customer sites via our
ActivelQ/AutoSupport technology. Source: https://mysupport.netapp.com/site/info/policies-and-offerings

QUESTION 2

You want to configure Active Directory domain controller access for NetApp ONTAP cluster administration. In this
scenario, which two actions would accomplish this task? (Choose two.)

A. Configure an authentication tunnel through an admin SVM.

B. Use the vservar active-directory create command to create a computer account on the domain for a non-CIFS SVM.
C. Use the vserver active-directory create command to create a computer account on the domain for a CIFS SVM.

D. Configure an authentication tunnel through an existing CIFS SVM.

Correct Answer: BD

https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.pow-adm-auth- rbac%2FGUID-
BC7B1934-DDE6-4AFB-A319-6C85D1ADACBS6.html

Configuring an authentication tunnel

If you have already configured a CIFS server for a data SVM, you can use the security login domain-tunnel create
command to configure the SVM as a gateway, or tunnel, for AD access to the cluster.

Creating an SVM computer account on the domain

If you have not configured a CIFS server for a data SVM, you can use the vserver active- directory create command to
create a computer account for the SVM on the domain.

QUESTION 3
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What establishes a quorum in a 4-node cluster?
A. epsilon

B. cluster peer

C. ONTAP Mediator

D. TieBreaker

Correct Answer: A

Reference: https://library.netapp.com/ecmdocs/ECMP1196798/html/GUID-EFE1DEF4- 8B87-4C4A-8E4E-
C6C79F760710.html

QUESTION 4

Exhibit.

Latancyims)

You have a NetApp AFF A400 HA pair with Fabric Pool enabled on all data using the snapshot-only policy. Users are
reporting slow restores when they recover files with the Windows Previous Versions tab. Referring to the exhibit, what is
the highest latency seen on restore?

A. 10500

B. 10021

C. 9591

D. 7889

Correct Answer: B

Explanation: the user retrieve files, which is a GET operation. You can use the S3 GET Object request to retrieve an

object from an S3 bucket. https://docs.netapp.com/sgws- 113/index.jsp?topic=%2Fcom.netapp.doc.sg-
s$3%2FGUID8B7BB6D4-FA59-4E82-BEAC- 45DA8C642029.html

QUESTION 5

A volume Is set to use Adaptive QoS with the default policy.
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In this scenario, which change would affect the QoS throughput ceiling?
A. Data is added to the volume.

B. Disks are added to the volume\\'s aggregate.

C. More clients access the volume.

D. The volume Is resized.

Correct Answer: D

Reference: https://www.flackbox.com/netapp-storage-gos-tutorial

https://kb.netapp.com/Advice_and_Troubleshooting/Data_Storage_Software/ONTAP_OS/
What_is_Adaptive_QoS_and_how_does_it_work
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